02 . Solved It! Sudokis'

OK Puzzlers! Here's a traditional Sudoku
puzzle for you with a twist! Instead of the
numbers 1-9, you need to use the letters
and exclamation mark in:

SOLVED IT! D| S E

Once solved, your answer is the contents
of the nine green shaded boxes in the T L VvV |
middle row, in the order they appear
from left to right.
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Submit this sequence as your answer. J

How To Solve a SwudoKuw: D|S| V O T

The Sudoku grid is divided intfo nine
blocks of 3x3 squares.
\ D|E Y}

Each of the nine blocks has to contain
all of the eight different letters plus the
exclamation mark in SOLVED IT! within its l L E
squares.
In addition, each lefter / exclamation (@)
mark can only appear once in any row,
column or 3x3 block.
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For more help with Sudoku puzzles, see a
‘how to’ guide here:
http://bit.ly/TTSudoku
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